N

SUPERM(DN

Powering modern

TR

FUARTE B T

"
E enquiry@supermoon.hk

WM R B/ 8 T(
www.supermoon.hk

TR/ REEH

Order at

LIK HUNG METAL MANUFACTURING

HigEBEXmERAE

B PRODUCT CATALOGUE

2016 EDITION

Sy ",

\i 1111

el il i,
N TR
L1 .\:\:\::\.

\ ,\:::::\::.

s a it

{1 Irer



> >

2 ) -
. Introduction RIS

Care ¢ Commitment e Expertise

S o K B

Since 1985, Lik Hung has been supplying
premium Electrical and Cable Containment
Products in Hong Kong and China. Our clients
associate LH with fast production, high
quality and a comprehensive product
offering. In 1991, we were appointed one of
the major suppliers to The Hong Kong
Housing Authority (HA) and The Architectural
Service Department (ASD), opening up
limitless opportunities in key housing and
government projects. We continue to
upgrade our capabilities in 2015 when we
invested in a new warehouse, tripling our
storage area in Hong Kong.

In 1992, we established a production site in
Dongguan with a factory consisting of over
10,000 m? in floor area, expanding our
production capabilities to over 18,000 tons
per year — an equivalent of 50 tons a day.
Further expansions in 2007 added 8000
m? of floor area - not only does this facilitate
space for up to 250 staff members but it also
allows us to employ top-of-the-line
machinery.

Today, with care, commitment and expertise,
Lik Hung continues to develop and aim to
bring more superior cable containment
solutions and reliable services to our
customer. In fact, we've never stopped
improving since we began our journey.

HMBE1985F HEL' NI BHRERUE R
SILAZE - AISO9001:2000 & E E R & -
HEBEBR BEEERE —BRAXSHYE
REEA - 191 FEREBRFEERE
EBEEHRERIFHEIEARNKRES Z— -
BEHSAERABFAERLRE - &M
015F#EENE - EFERRREIIA=
BB E AXRIENFEMEEE -

HI1992FBENREEE - KE2007FH
B2 RPNESIERES 18,0000 -
HERBRS0MRIEY - 5318,000F
RN EE S#BE2502METL - B
SoER BRI ERE M AL B S - 2E—&D
WELEERIMNZERE

SK-—RBEHE DE RS - 20
HGra KB - HPIARE R TIBEE LR 7
—LESBENEMS R MR ARV

o

N



3

. U’.-*.EEE":’% U Channel

mMaterial:

mStandard:

mlength:

mThickness:

mFinishes:

Mild steel

Stainless steel grade 304 or
316 complying with ASTM A240 /
A240M - 08

Meets BS 6946

Standard length of 3m / 6m, other lengths
available on request

2.5mm, 2.0mm

Hot dip galvanized to
BS 729, ISO 1460, ISO 1461

Coloured Epoxy powder coating

u[FER

nEE:

nREREE:

SRR
A$E5 304 5%

3167%FE ASTM A240 /
A240M - 08

T EBS 6946

S S
0 i

2.5mm, 2.0mm

RS G REIIRE
BS 729, 1SO 1460, ISO 1461

HEBAEY

/6m, Bt RE %



4. Uﬂ*g'g'glg U Channel

[
D
D=7mm
B C=10mm
B=21/41mm
¢ A=41mm
e ~
—— A —

UCH21 UCH41
ucai uca1

UCH21 21x41mm 14x28mm at 50mm centres

ucz1 21x41mm



. 4H S BV S 28 combination Channels

I--— 41—
413
us2121

k '

[——83

\

Y
4N
Y,
A
[or)
w

!

83

BRAS O IRRERES
Custom combinations can be produced under client request




UBIE B BCfF Fittings and accessories

mMaterial:

mThickness:

mFinishes:

mHole size

Steel plates, strip or coil

Stainless steel grade 304 or 316

emm

Hot dip galvanized to
BS 729, 1SO 1460, ISO 1461

Other finishes can be supplied on request

Standard 14mm diameter

Other sizes can be produced on request

w[FZR

nEE:

n REREE:
wZEEAER:

B, 58 15 R S R

A58 304 =X 316

omm

OB B 5 SRS
BS 729, ISO 1460, 1SO 1461

Eﬁﬁﬁ‘%ﬁ)ﬁi@ﬂ?ﬁﬁﬁ%ﬁi%
14mm

Hith R o REREGE



LH1062
LH1063
LH1064

105 36.5

LH1062 73

LH1064 69 14mm/ M12

LH1066 243 14mm

LH1036 250 14mm




8. UBIE B BCfF Fittings and accessories

LH1034 - weight 342g LH1331 - weight 432g LH1332 - weight 432g




9

— UBIE B BCfF Fittings and accessories

/45’

Q
Q
N v
v

LH4045 - weight 180g LHZBO4 - weight 251g




10. UBIE S ACH Fittings and accessories

60 “iii:il 66,

100 100

LH2072/S1 - weight 568g LH2073/A - weight 1927g

LH1130
LH1131

LH1130 168 102 760
LH1131 219 152 976

S ---
LH254S 150 914 477
200 1050 358
250 1186 286
350 1457 204
115 450 1728 159
550 1999 130
" 600 2135 119
650 2270 110

RS o REREGE

Custom sizes can be produced under client request




11. L& B+ Installation example

#F Threaded Rod (P.13.)

)

v
N

NE#E Hex Nut (P.14.)

SEAT Flat Washer (P.14.)

7377 Square washer (P.7.)

sES#4E Spring Nut (P.12)

Ny

EW End Cap (P.13))

)

RERLEHF
Diagram is a suggested example installation only




12. H{thfc & Other accessories

B S4B Spring Nut

mSize: 3/8" , M6, M8, M10, M12 niEEEHR: 3/8" , M6, M8, M10, M12

mMaterial: Stainless steel 304/ 316, Mild M /RE: 304 /316 KRiEsh , EE e
Steel Zinc electroplated / Mild / ﬁi%ﬁﬁﬂﬁ@ﬁ.’f%i%
Steel Hot dip galvanized to BS 729, 1SO 1460, 1461

BS 729, 1SO 1460, 1461

3/8" SPN-L3
M8x25 ([Eg& Pan Head) SPN-L8
: --——
Long Spring
M12x25 (753 Hex head) SPN-L12
3/8" SPN-S3
M8x20 ([Eg& Pan Head) SPN-S8
Short Spring
M12x20 (758 Hex head) SPN-S12
3/8" SPN3
5 40 SPN8
ot __—
Anti slip nut _ o

RSt o iR R E RIS

Custom sizes can be produced under client request



13

. H{th&id {4+ Other accessories

#T Threaded Rod

mSize:

m Material:

mlength:

3/8" , M6, M8, M10, M12

Stainless steel 304 /316, Mild
Steel Zinc electroplated / Mild
Steel Hot dip galvanized to

BS 729, 1SO 1460, 1461

3m

M@K@@@@@M@M@m@w

#+ Threaded Rod

E D End Cap

m Colour:
mSize:

mMaterial:

FRR T o ZIRBREEE

Black / white
21x41, 41x41

Plastic

Ed End Cap

Custom sizes can be produced under client request

i REERE:

a1 /2RE:

aRE:

3/8"
M6
M8

M10

M12

nBEE

a K/

LuESH

1450
460
920

1450

2124

3/8" , M6, M8, M10, M12

304 /316 AiAdH , ik
[ BUR SRS & BRI AE
BS 729, ISO 1460, 1461

3K
TRM3
TRM6
TRM8
TRM10
TRM12
®/5

21x41, 41x41

41x21

41x41

UEC21
UEC41




14

. H{th&id {4+ Other accessories

INA#4%E Hex Nut, 7T Flat Washer, 124% Screw

mSize: 3/8" , M6, M8, M10, M12 piZEHRE: 3/8" , M6, M8, M10, M12
mMaterial: i, 304 /316 K%M a M Mild Steel, Stainless steel
304 /316
mScrew thread length 8-40mm alZ4TRE : 8-40mm
S % —
— ' =
=
NA#E Hex Nut E7T Flat Washer JNA / ElFE 1244

Hex / Pan Head Screw

EHith4 T B4+ Other Threaded Rod Accessories

#HT B T=3k RE#E (BR)
Threaded Rod Coupler Threaded Rod Clamp Drop in Anchor

FRR T o 2R B R EE

Custom sizes can be produced under client request



15

Bii % Appendix - BT 8I#E Load data

uc41 610

1219

B
H 1829
\ o a3

2438

3048

uc21 610

1219

1829

2438

3048

UCH41 610

1219

1829

2438

3048

UCH21 610

1219

1829

2438

3048

N N\

Deflection

Deflection

6.8 il.2 3.4 1.0 14.8 B

3.4 519

23 12.9

1.7 229

1.4 35.8

23 29

il 10.4

0.8 23.7

0.6 41.7

0.4 65.4

5.8 il.2)

29 58

1.9 12.9

14 22.9

11 35.8

2.0 29

1.0 10.4

0.7 23.7

0.5 41.7

0.4 65.4

HERESE, EmARRAZ MA—EEH

Data is for reference only, may change under different applications of product use

1.7 4.7

ilal 10.3

0.9 183

0.7 28.6

11 23

0.6 8.3

0.4 19.0

0.3 334

0.2 52.3

28 1.0

i3 4.7

1.0 10.3

0.7 183

0.6 28.6

1.0 2.3

0.5 8.3

0.3 19.0

0.2 33.4

0.2 523

114 235

8.5 15.0

6.7 13.0

5.4 8.6

9.8 29.1

58 14.0

35 6.3

23 Bi5)

1.6 =




16. fitik Appendix - B 238 Load data

UBIE BB U Channel Fittings

LOAD | LOAD LOAD
kL
Ly : _____
— |
|
LH1026 LH1026 LH1068 LH1325 LH1326
kN kN kN kN kN
5.7 3.7 1.9 7.6 10.1

LOAD Tk LOAD LOAD

Ly v ¥ ' [ | l
Ly
l |
—-—— i | |
| | _ - = -
I | i
| VLoD |
LH1326 LH1326 LH1326 LH1065 LH1331/1332
kN kN kN kN kN
5.7 4.5 7.6 3.7 11.3

HBRELE EmARBHAZ MA—EEHR

Data is for reference only, may change under different applications of product use



17

ZCi#ENotes




NigEEEHMBRAT - 5o
LIK HUNG METAL MANUFACTURING LTD. pagament

<4

BiE Hong Kong
B Office
B T 248 23-31% Ground Floor, Unit B,
T e 7R - Mai Luen Industrial Building,
\E’%I(éf;;;%%%g; 23 - 31 Kung Yip St, Kwai Chung
(852) 2785 7655 Tel: (852) 2743 7827
BE: Fax: (852) 2785 7655
EELHAL: S;_ale@“khung-com-hk Email Address: sale@likhung.com.hk
%E /' / “/ Warehouse
/ 4 *! BLK. C, 6/F., Wui Wah Factory Building, 1 |
5/@{1]10375)55 BE6F1ECEE “f & .rr‘ Yee Kuk West Street, Cheung Sha /
f ,* i
) P // / NI
I@' TF / E{;“ = “7# A \‘:“ﬂ‘ Wai Hlng Road, Yantian District,
= NEASERBRERARAT W\penggm Town. China
iE @ &- ~— ..;\]_ .
/ h"'——\... —

L i.("‘(
www.likhungthk_



